8.6 Solving Logarithmic Equations (Fall 2018)-f18e January 9, 2019

Last day's Work: Begin Review p. 510
#1c, 2d, 3d*graph too, 4, 5b, 6b, 8* 9, 10abc, 11c, 12, 13
*the answer for 8d is 3. a’a
*the answer for 11c is2.552

P-510 8, Use the laws of logarithms to evaluate.
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8.6 Solving Logarithmic Equations (Fall 2018)-f18e

8.6 Solving Logarithmic Equations

@ "l can solve and check any equation with logarithmic expressions.
| also know what the restrictions are in an equation.” Deamos 40 56)

Recall: Given: y =log,x . Sketch

D:{xeR|x>0}
R:{yeR}
b>0,b=1

O vog
Since the domain of y =log,x is D:{xe R|x >0}, when solviné equations
involving logarithms, one must always identify the restrictions on x.
It is best to do this as soon as possible.

For example, if one is asked to solve logs(2x - 5) = logs7 , then whatever

the final solution is for x, it must be greater than 2\7 D efrebim’ Qx-S e
AN 2S

Ex. 1: Solve: logs(2x-5)=1logs7 j:da«(m"réﬂi X>/;?
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Ex. 2: Solve:
a) log;(x - 4)+log;5=1og;10 b) log,(x - 3) +log,(x +4)=3
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pp. 491-492 #1de, 2de, 4de, Scef, Tbdef, 9, 12, 13, 14, 20 e 6o [MJWW

Also READ pp. 494-499 (For Tomorrow)
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